(

126km 1,640km?

13%

JR 5 229

60

2 1,150cm
17130 1/250

1/500 1/5,000

33
44

( 1,046m)

1,893m)

1%

230 276

1/60

86%

393

1,500mm



126km 33 109
1,640km? 42 109
1 6 2
3.9
39

1,046m)

9 5 10(km)




(m)

2-1
33 ( 48 18 )
15.00 ‘
—_ 48
63 KP22.82
—_ 7
10.00 —_— 13
- 18 KPlQ.?
5.00 KP4.01 L
KP12.97 {
,m » ,
. KP0.32 KP3.00 A MMM[\
~ ol AN
-5.00
-10.00
0.0 5.0 10.0 15.0 20.0
(km)
2-1 4
4
s | | —s48 $63 —H7 ——H13|
2
-~~~
E 1 (N\ Va
0
-1t
-2
-3t
_4 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
0.0 5.0 10.0 15.0 20.0
(km)
2-2 ( 18 )




2-2

(m)

N O DN B O

14
12

22
20
18 |
~16
E14
12
10

//l
= HWL = 9.42(m y
— ) ~ [ —HL
~_ | 4 T / K™ —_— 48
S \ /’ 63
O\ / )
s ‘ = 18
T
0 50 100 X(m) 150 200 250
2-3 KP15.2( )
| — _——HuL
7\ HUL = 13.54(m) _ " 48
- S— ﬁ_rb——Jk\ ///q/,A.,///rf e 63
L x\::—”y"‘x ,;/ - 12
0 50 100 X(m) 150 200 250
2-4  KP22.8( )



(m @m

(m

| L L]

ArOWONRFRPORPNWS
N
OO OCOO0OOCOOO

@m

. R
OO OCOCOoOOCOOoOO

-1.

-3.
-4.

coooocoooo

R
OOO0OO0OO0OOCOOO

33 48 18 )
8 15
0 1 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 24
(KP)

6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 24
(KP)

0 1 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 24
(KP)
H BH13 H18 |- - - - -
"I I i l
]
0 1 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 24
(KP)
2-5
100 -
% 'l bl 7._/-
i
80
. i
£ 60 j/ ,E‘
50 =
. ’ «D
40 3 B KP110(H8) [T
% " H f KP110(H15)
K2 i - <> - KP20.0(H8)
" .5 ;u/- —e—KP200(H15) |||
T AT - O - KP220(H8)
" //f.-‘,'E/. —f—xpzzoms) il
0 il [T
001 01 1 10 100 1000
(mm)
2-6



11
11
10 S
8 *IKP0.0 . —HWL i
6 — 48 4
~ 4 ‘% 63 |
g, WA HIL = 1.53(m) 1
0 R [N — 13 |
2 M — [ 18 ||
i o N
4 N B
-6
-100 0 100 200 X(m) 300 400 500
10
8 *IKPO 2 f ——HiL
- A 48
6 A —
~ 4 “\m J(-( — 63
g, N HWL = 1.53(m) 7] — 7
0 1= = — 13
_ e\ N7 18
4 =/
_6 L
-200 -100 0 100 X(m) 200 300 400
3-1 (KP0.0 KP0.2)

3-2



3-3



33





